Aball is shot into the air. The following equation models
the height of the ball as a function of time:

h(t) = -16t2 + 240t + 50
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3. Find the maximum height of the ball.

n(7.5)< ey

h(t) = -16t? + 240t + 50

How long will it take to reach a height of 300 feet?
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Both answers make sense because it will reach a
height of 300 ft twice, once on the way up to

the max and then again on the way down to the
ground.

h(t) = -16t? + 240t + 50

How long does it take this ball to come back down to the
ground?
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the only answer that makes SENSETS
the positive answer. Plus, it will
only hit the ground once.

An object is shot into the air. The following equation
models the height of the ball as a function of time:

h(t) = -16t + 80t + 13
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there is no real solution to
this equation which means



If | gave you a bunch of Quadrtic Equations to solve and

You can now finish Hwk #30 Sec 10-7 told you that you must use each of the following methods
at least once:
Pages 550 - 551 sl actoiing

® Quadratic Formula
® Square Roots

Problems 3, 6, 12-14, 19, 20, 24, 25

Which method would you try to use first?
Use Square Roots first......look for the Quadratics that have no b

Which method would you try to use next?
Try factoring next....look for the ones that appear easy to factor a=1

Which method would you save for last?
Use Quadratic Formula last......it will always work



